National 5 Geometry and Measure Assessment Practice

1.  For safety reasons the gradient of a toddler’s slide must not exceed 0.8 and the slide must not be taller than 210cm. 
The drawing below shows a potential new design.
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[image: image3.png]Dave travelled 94 miles in a time of 2 hours and 12 mins. Calculate his average speed
for the journey. (answer in mph)

Trevor drove his van for 4 hours and 36 minutes. He covered a distance of 230 miles.
Calculate his average speed for the journey. (answer in mph)

Gary took 5 hours 18 minutes to complete a hillwalk which covered a distance of 26.5
miles. What was his average speed?

Jane drove for 3 hours and 24 minutes at an average speed of 40 mph. How far did she
travel?

It took John 6 hours and 48 minutes to get to Glasgow, travelling at an average speed of
60 mph. How far away was he when he started?

Kerry's car managed an average speed of 120 kmph on the motorway in France. If she
travelled at this pace for 2 hours and 12 minutes, how far did she get?

How long would it take to travel 160 miles at an average speed of 50mph. Give your
answer in hours and minutes.

Harry travelled 408 miles averaging a speed of 60mph. How long did this take him?
Give your answer in hours and minutes.

A journey of 1728 miles was flown at an average speed of 320 mph. How long was the
journey? Give your answer in hours and minutes.
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A patch of lawn was laid out as an isosceles triangle as shown below. It was to be edged
with wood. Calculate the length of wood required to do this (to 1 decimal place).

A garden shed is planned as follows:

95m

3m

1.8m




Does the slide meet: 


a) the gradient condition? (you must give a reason)






(2)

b) the height condition? (you must give a reason)






(1)

2. Two pedalos set off from the water sports base at the same time. One pedalo travelled 15km East from the base and stopped for a break. The other travelled 11km North of the base before stopping. 
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[image: image11.png]Dave travelled 94 miles in a time of 2 hours and 12 mins. Calculate his average speed
for the journey. (answer in mph)

Trevor drove his van for 4 hours and 36 minutes. He covered a distance of 230 miles.
Calculate his average speed for the journey. (answer in mph)

Gary took 5 hours 18 minutes to complete a hillwalk which covered a distance of 26.5
miles. What was his average speed?

Jane drove for 3 hours and 24 minutes at an average speed of 40 mph. How far did she
travel?

It took John 6 hours and 48 minutes to get to Glasgow, travelling at an average speed of
60 mph. How far away was he when he started?

Kerry's car managed an average speed of 120 kmph on the motorway in France. If she
travelled at this pace for 2 hours and 12 minutes, how far did she get?

How long would it take to travel 160 miles at an average speed of 50mph. Give your
answer in hours and minutes.

Harry travelled 408 miles averaging a speed of 60mph. How long did this take him?
Give your answer in hours and minutes.

A journey of 1728 miles was flown at an average speed of 320 mph. How long was the
journey? Give your answer in hours and minutes.
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A patch of lawn was laid out as an isosceles triangle as shown below. It was to be edged
with wood. Calculate the length of wood required to do this (to 1 decimal place).

A garden shed is planned as follows:

95m

3m

1.8m




Calculate how far apart the pedalos were at this current point in time? 

3.
Mudslides often occur on hills, after heavy rain fall, if they have a gradient which lies in the range 0·9±0.2.
After a period of heavy rain, a walking group decide to calculate the gradient of the hill they are about to walk up before they set off.

The steepest part of the hill is 800m high and and drops to a height of 630 m. The steepest part of the hill has a horizontal distance of 160m as shown in the diagram.


                 800 m

                                                  160m

630 m
(a) Is it likely that a mudslide will occur
(b)
The lower part of the hill is considered safe as it has a gradient of 0.25 (1/4). It starts from a height of 440 m and drops to a height of 130 m. What is the length of the slope?




4. 
A duathlon is an event which involves swimming and running. Those that wish to sign up for the event can choose to enter at a bronze, silver or gold level. Details of each of these are shown in the table below:

	Level of Duathlon
	Swimming

Stage 1
	Running

Stage 2

	Bronze
	Swim 500m

Target time: 9 minutes
	Run 4km

Target time: 20 minutes

	Silver
	Swim 850m

Target time: 12 minutes
	Run 7km

Target time: 40 minutes

	Gold
	Swim 1500m

Target time: 23 minutes
	Run 10km

Target time: 52 minutes


What is the total distance (in kilometres) competitors cover in the silver event?

If the gold run is completed exactly in the target time, what would the average speed be in Kilometres per minute? 

Annie runs at an average speed of 10k/hour. Will she make the target time in the bronze event?      
5. 
Mrs Sefton is going on holiday to Florida from Glasgow. She has the following information available to her:

	Distance to Florida
	4216 miles

	Aircraft Speed
	498 mph

	Time difference
	-5 hours (minus 5 hours)

	Stopover in New York
	1 hours and 35 minutes


(a) Calculate how long the journey from Glasgow to Florida airport will take including the stopover in New York. Give your answer in hours and minutes.

(b) If Mrs Sefton takes the flight leaving Glasgow at 0930, what time will she arrive in Florida (their time)?

(c) Miss Carstairs, who lives in Forfar, plans to phone and chat to Mrs Sefton at 1000 UK time. Will this be a suitable time to phone? Justify your answer.

(d)Mrs Sefton will be teaching from 0900-1700 Monday to Friday. She likes to be in bed at night by 2230. Advise Miss Carstairs on the best time to contact her on weekdays from her home in Forfar.
6. 
A boat sails from Oban to the Isle of Tiree. It makes one additional stops along the way to pick up passengers on the isle of mull.  Its Route is as follows:

From Oban the boat sails 120 km on a bearing of 190° to Mull.

Then

210km on a bearing of 280° to the Isle of Tiree.

(a) Using a suitable scale, make a scale drawing of the boats route.

(b) From the Isle of Tiree the boat returns directly to Oban. Calculate the distance of the return journey.

(c) If the boat sails at a steady pace of 90km/hour ± 25% calculate the minimum and maximum time taken to complete the whole journey.

7.  
A new logo is designed as shown below.  

Calculate the ratio of the area of black to the area of white.  

Show all your working.











	8. 

Mrs McNee wants to fit her new drawers in the shed. The Drawers are 1.5 metres long rounded to the nearest 0.1m. The length of the shed is 2 metres rounded to the nearest metre. Are the Drawers guaranteed to fit in the shed?  Give reason for your answer.





	9.

A landscape gardener is to erect a fence around the perimeter of a playground.

The playground has two identical semi-circular picnic areas at either end of a rectangular play area, as shown below.

Calculate the length of fencing required for the playground.



	10. 

A 2 litre bottle of Cola has to be poured into plastic cups to be shared out at a party. Each cup is in the shape of a cylinder with a radius of 4cm and a height of 6cm. 

How many full glasses of cola can be poured from the bottle?


One person at the party chooses to use up the last of a bottle of ginger beer. The bottle contains 200ml. Work out the depth of ginger beer in one of the glasses above.

Write your answer to the nearest centimetre.

11.
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15.  
Two friends are running a café.  When a sandwich order comes in the tasks that need to be done are shown in the table below:

	Tasks
	Detail
	Preceding task
	Time (mins)

	A
	Get bread
	none
	1

	B
	Prepare side salad
	none
	3

	C
	Butter bread
	A
	2

	D
	Place filling on bread
	C
	1

	E
	Place sandwich on plate
	D
	1

	F
	Place salad on plate
	B
	1

	G
	Serve customer
	E,F
	2


a) Copy and complete the chart below by writing the letter of the tasks and time in the boxes




b) Calculate the total time the friends should allow to prepare and serve the sandwich.
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